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Fourter UO OFourter 10 0000000000 0OOO0OO0OOOOOOODOOO
Ubooodbooobooobdd Fourter OO OOODO

3.1 ODOo0oooon

0000000000000,00000000000. OO0 20000
0Do0oo0
exe000000002000000000,00000000000 C(x,y,t)
000000000000000.000, (2, y)=(m, n)e,m,n000000.
00,00 +00 t++A+000,000000000000000000000
0000000.0000000,000000000000000000.0

model 1: 00 000000000.00,(x,y) 00000000 AtO0D00O,1/4
0000 (¢4a,y)0,1/40000 (r—a,y)0,1/40000 (x,y+a)
0,1/40000 (¢,y—ae)0O00000000O0O.0000 t+At000O
0 (x,y) 00000000 C(z, g, t+AH) 00000

1
C(‘r’ Y, t+ At) = ZC(QZ’ +a7 Y, t)

1
+ ZC(T —a, Y, f)

1
+ ZC(ZL‘, y+a,t)

1
+ ZC(Z’, y—a,t), (3.1)

O00000. 000,000 ¢O0O0000000O000000C0O00.
«, At0000000,(3.1)0 Taylor0 0000,

oc ,. 1 [dC o2cy \ ,
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000.000 O(A2),0(*)0000,(32)000000,2000000
00

ocC 0* 0*
CL2

gooodg.bbggb,bbggbooouogoboooo,30uogn
gbobogoboo.

obobooboobooooog, *obooboooooboooooon
00000000'000000000000000000000'0000
gobobboogboobobbobooboo,oboob,oobob,0bo
gb.boboo,00bobbooubobbobuoubooboboobobb

Note: 00 O000O0OOOOOO,0000D00O0CCO DOODOO,

I= / Clz, y, t)dedy (3.5)
D

gbooobbbooobogbob. booooobboobobbo,bobo
gbobboboobuoboooobobbob,oobobdabboboobod
U.bodgbuogobobobgouooobooboboboboboogood
gbgbodooobooodaad.

model 2: 0O O0O0O00OODOOO. ODO0O,000000D000000 ¢ODO,

D00000D000000 p000. 00000, (z,y) 00000000
AtO00,p/40000 (¢4a,y)0,p/40000 (r—a,y)0,p/400
00 (v,y+a)0,p/40000 (z,y—ae)00OO0DOO0OO0OO0DO0O0O. g+p=1
OD00. 00000 t+At0000 (2,») 00000000 Cz, y, t+ At)
oooog

Clocy t+ A1) = LC(r+a.y.1)
+§Cu—myﬁ)
+%%%y+mﬂ

—|—i—)C(:1:, y—a,t),
+qC(z, y, t) (3.6)

D000 "00"00000000000000000000DODOO
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00000, Taylor 00000, (3600000000000 (3.3)000.
000000000000 &0

CZ2

BN

UO0O. 0<p<lU0OO,case 2000000 case 10000OO00OOONO
Oo0.

gooobobooo,obbbodbobobuoooouoo,oouoogo
00000,0000000000000O00o0o00.(Dopooooo
O0o0,0000000000000.)

(3.7)

3.2 FourierUOOOOOOOOOODODOO

gbobooobob1bbooooobooobboobob:

oc o
ot ox?’

000,~00000,0000000,-x<2<o000,00000 C(x,0)=
Co(x), 00000 Cdoo,t)=0000. 2
0000000000000000000,00000000.0000000
00000000000000000,0000 FowierDOOOOOOOODO0O
ooooooo.
0000000, —x<2<oo0000000,000 C(x,t)0 Fourierd O
oooo,

(3.8)

C(x, t) C(k, t)e™ dk, (3.9)

\/‘77r/
O0o0o0oo0. 000 39ooooUooooooUoooUoO ek 0ooog
00000 £ 000000 27/k0000O00O0OO é(k,t)DDDDDDDDD
O0o00ooooooooo

(3990 38)0DoOoOooOooDO:

dC ikx .
/ {E—F/{k C} dk = 0.

0000000000 +c0000000,0000000000000000000 00
gobooooobboobboooobogb.
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Odd 0000000000 00000, 000000 o0Ooobooobooa.
0oo,
ac
0000000000000000000 ¢ 0 FourterOO € O (3.10)DDD
000000000000 k0000000000, kO0bOoo0oboooooaoa
(3.10)0000000000000O0000.000,000000 (3.8)0 Foureir
oooo0oooooooooooooooooooooooo.
(3.100)000,

C(k,t) = A(k)e "+t (3.11)

0D00000.000,0000 ADD AO00OO0OOOOCOOOOOOOOO
DDDDD,A(k)DDD.(&ll)D (3.9)DDDDD

C(z, t) \/ﬁ elke=r kL, (3.12)
0D00.00000000000.
C(x, 0) = Cy(x) \/_/ k)e™* dk, (3.13)
(313) 00000 A(k) O Fourier 000 0000000000
A(k) = J% /_ Z Cola)e **da (3.14)
000000000000000, (3.12)0
C(z, 1) 2W/ dk/ da' Cy(a')etle—=—rkt (3.15)

000, (315000000,

1 [ vz [ e L=
Clz, t) = %/ dx'C’O(x')e_(fm) [/ dke t{k e }] (3.16)

o0

oooo
000 Gauss 0O

w2
e dax =

(3.17)

P
? o
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00Oo00. (3.16) O

Clz, t) = QW d:I: Co(a')e ani (3.18)

00000000.0000000000 Gy(e)0ODODOOOODOOOOODO.
00000000 Cy(v) 0 o000 OODODOODOODOO:

Co(x) = d0(x). (3.19)

ooogd,eD0OO0oOoa
/ T As(@) flx — o) = f(a) (3.20)

ooooo,318)ooooooog.

1 o?
Clx, t) = e ant 3.21
(0. 1) = 57— (3.21)
O0000000 »=00000000 cOOOODDOOOOOOOODODOOO
t—oo 000000000 0O0O0O0OD0OO0OO0OOD0ODDODODOODOOOOoDOOoOOD
000000000000 CcO000ooOooooo0OooonO GaussdO (3.17)

0000000321y 0 0000 —o~occOO0OO0O0O0O

e 1
Clx,t)de = X Vdrkt = 1. 3.22
| clenar=— (3.22)

000000000000 Cx,t) 0000 1000000000000 OODOO

/ 5z (3.23)

000000000000 0000000000Gauss00 (3.17) 0000000
goggoo

3.3 Gauss

Gauss 0 O
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goboobubobud.bbobbo,godogbbuoubboooobbon
gooo. obog,bboouboggboobobbbdoado

pla) = Ae=" (3.25)

0000000, AD00DOO00000 100000000 /77 p(e)de =1
O00000.000000 GawssOOODOO.O0D0,000000000000O
0020000000 M,= /" 2*p(x)de 00000 GaussOOODOODOO.
00,20000000 ¢=M,0000 «O0000O0O0O0O0O0OO.

O0:

I(a) = / e~ du, (3.26)

(o) = {/ e‘”zdx}x{/ eayzdy}
S

000 (rf) 0000000000 O0OO0.

o) 2m
L(a)? = /0 rdr/o dg e’
27 ’

/rdre_(”
0
000 »2—-¢00000000,

Ih(a)? = 7T/ dé e = g.
0

godaoo.

00000, Ila)=4/2.
(e

Gauss 0 OODOODODO,00D0O0DOOODODOOOODODOODO.

0

I,(a) E/ 22 dr. (3.27)

(o]

810(04) — /OC —$2 6—am2dx
da _

o0
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ooo,
OIy(a
I(a) =— (;a ) (3.28)
00,0000
I(a) = _Oalw) (3.29)



